## **ID/IQ PROPOSAL – EMERGENCY CONTRACT**

DATE AND TIME OF BID OPENING: NOVEMBER 4, 2024 AT 2:00

CONTRACT ID: D13POC.057.1001.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: HELENE

COUNTY: MADISON

**ROUTE NO.:** INTERSTATE, PRIMARY, & SECONDARY ROUTES

LOCATION: VARIOUS

**TYPE OF WORK: REMOVE AND DISPOSE OF STORM RELATED VEGETATIVE DEBRIS OF VARIOUS TYPES** 

#### **NOTICE:**

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

RANS

THIS IS AN EMERGENCY REPAIR PROJECT.

BID BOND IS NOT REQUIRED.

CAR

Southern Pines Timber LLC

NAME OF BIDDER

217 Pungo Creek Road, Pinetown, NC 27865

ADDRESS OF BIDDER

Contract Number:	D13POC.057.1001.01
TIP Number:	N/A
FA Number:	TBD
WBS Element:	Various
Description:	Remove And Dispose of Storm Related Vegetative Debris of Various Types

LINE #	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	8,000	CY	10.00	80,000.00
2	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	2,000	TON	70.00	140,000.00
3	SP	DRIFT REMOVAL	100	HR	300.00	30,000.00
4	SP	SELECT TREE REMOVAL, 6 INCHES TO 12.99 INCHES	50	EA	100.00	5,000.00
5	SP	SELECT TREE REMOVAL, 13 INCHES TO 24.99 INCHES	25	EA	200.00	5,000.00
6	SP	SELECT TREE REMOVAL, 25 INCHES TO 36.99 INCHES	25	EA	300.00	7,500.00
7	SP	SELECT TREE REMOVAL, 37 INCHES TO 48.99 INCHES	25	EA	400.00	10,000.00
8	SP	SELECT TREE REMOVAL, 49 INCHES OR GREATER	15	EA	500.00	7,500.00
9	SP	HAZARDOUS LIMBS	50	EA	100.00	5,000.00
10	SP	SHOULDER CLOSURE	15	EA	1,000.00	15,000.00
11	SP	RAMP CLOSURE	4	EA	1,000.00	4,000.00

12	SP	MULTI-LANE ROADWAY, LEFT OR RIGHT LANE CLOSURE,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	1,300.00	5,200.00
13	SP	MULTI-LANE ROADWAY, RIGHT LANE CLOSURE INCLUDING RAMPS AND LOOPS,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	1,800.00	7,200.00
14	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL HOUR	5	EA	300.00	1,500.00
15	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL MILE	5	EA	200.00	1,000.00
16	SP	WORK ZONE TRAFFIC CONTROL, RESET TRAFFIC CONTROL	2	EA	1,000.00	2,000.00
17	SP	FLAGGER	500	HR	50.00	25,000.00

## TOTAL BID FOR PROJECT: \$350,900.00

C 27865
Gederal Id:47-4706049
Title: Member Manager
Date:11/04/2024

## **ID/IQ PROPOSAL – EMERGENCY CONTRACT**

DATE AND TIME OF BID OPENING: NOVEMBER 4, 2024 AT 2:00

CONTRACT ID: D13POC.057.1001.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: HELENE

COUNTY: MADISON

**ROUTE NO.:** INTERSTATE, PRIMARY, & SECONDARY ROUTES

LOCATION: VARIOUS

**TYPE OF WORK: REMOVE AND DISPOSE OF STORM RELATED VEGETATIVE DEBRIS OF VARIOUS TYPES** 

#### **NOTICE:**

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

ZANS

THIS IS AN EMERGENCY REPAIR PROJECT.

BID BOND IS NOT REQUIRED.

CAR

South Mountain Land Works, LLC

NAME OF BIDDER

7398 Corn Hill Road Connelly Springs, NC 28612

ADDRESS OF BIDDER

Contract Number:	D13POC.057.1001.01
TIP Number:	N/A
FA Number:	TBD
WBS Element:	Various
Description:	Remove And Dispose of Storm Related Vegetative Debris of Various Types

LINE #	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	8,000	CY	15.00	120,000.00
2	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	2,000	TON	.01	20.00
3	SP	DRIFT REMOVAL	100	HR	800.00	80,000.00
4	SP	SELECT TREE REMOVAL, 6 INCHES TO 12.99 INCHES	50	EA	150.00	7,500.00
5	SP	SELECT TREE REMOVAL, 13 INCHES TO 24.99 INCHES	25	EA	250.00	6,250.00
6	SP	SELECT TREE REMOVAL, 25 INCHES TO 36.99 INCHES	25	EA	500.00	12,500.00
7	SP	SELECT TREE REMOVAL, 37 INCHES TO 48.99 INCHES	25	EA	1,000.00	25,000.00
8	SP	SELECT TREE REMOVAL, 49 INCHES OR GREATER	15	EA	2,500.00	37,500.00
9	SP	HAZARDOUS LIMBS	50	EA	100.00	5,000.00
10	SP	SHOULDER CLOSURE	15	EA	500.00	7,500.00
11	SP	RAMP CLOSURE	4	EA	500.00	2,000.00

12	SP	MULTI-LANE ROADWAY, LEFT OR RIGHT LANE CLOSURE,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	2,500.00	10,000.00
13	SP	MULTI-LANE ROADWAY, RIGHT LANE CLOSURE INCLUDING RAMPS AND LOOPS,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	2,500.00	10,000.00
14	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL HOUR	5	EA	.01	.05
15	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL MILE	5	EA	.01	.05
16	SP	WORK ZONE TRAFFIC CONTROL, RESET TRAFFIC CONTROL	2	EA	.01	.02
17	SP	FLAGGER	500	HR	300.00	150,000.00

*TOTAL BID FOR PROJECT*: 473,270.12

Contractor: South Mountain Land W	orks, LLC
Address: 7398 Corn Hill Road Cor	nelly Springs, NC 28612
Phone: 828-593-9941	Federal Id: 92-2305608
Contractor's License Number: 126767	
Authorized Agent: Kayla Case	Owner
Signature:	Date: 11/4/2024

## **ID/IQ PROPOSAL – EMERGENCY CONTRACT**

DATE AND TIME OF BID OPENING: NOVEMBER 4, 2024 AT 2:00

CONTRACT ID: D13POC.057.1001.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: HELENE

COUNTY: MADISON

**ROUTE NO.:** INTERSTATE, PRIMARY, & SECONDARY ROUTES

LOCATION: VARIOUS

**TYPE OF WORK: REMOVE AND DISPOSE OF STORM RELATED VEGETATIVE DEBRIS OF VARIOUS TYPES** 

#### **NOTICE:**

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

RANS

THIS IS AN EMERGENCY REPAIR PROJECT.

BID BOND IS NOT REQUIRED.

CAR

Atoah Contracting LLC

NAME OF BIDDER

116 Lower Mill Creek Drive, Robbinsville, NC 28771

ADDRESS OF BIDDER

Contract Number:	D13POC.057.1001.01
TIP Number:	N/A
FA Number:	TBD
WBS Element:	Various
Description:	Remove And Dispose of Storm Related Vegetative Debris of Various Types

LINE #	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	8,000	CY	\$24.00	\$192,000.00
2	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	2,000	TON	\$50.00	\$100,000.00
3	SP	DRIFT REMOVAL	100	HR	\$650.00	\$65,000.00
4	SP	SELECT TREE REMOVAL, 6 INCHES TO 12.99 INCHES	50	EA	\$150.00	\$7,500.00
5	SP	SELECT TREE REMOVAL, 13 INCHES TO 24.99 INCHES	25	EA	\$200.00	\$5,000.00
6	SP	SELECT TREE REMOVAL, 25 INCHES TO 36.99 INCHES	25	EA	\$300.00	\$7,500.00
7	SP	SELECT TREE REMOVAL, 37 INCHES TO 48.99 INCHES	25	EA	\$600.00	\$15,000.00
8	SP	SELECT TREE REMOVAL, 49 INCHES OR GREATER	15	EA	\$800.00	\$12,000.00
9	SP	HAZARDOUS LIMBS	50	EA	\$80.00	\$4,000.00
10	SP	SHOULDER CLOSURE	15	EA	\$3,000.00	\$45,000.00
11	SP	RAMP CLOSURE	4	EA	\$2,500.00	\$10,000.00

12	SP	MULTI-LANE ROADWAY, LEFT OR RIGHT LANE CLOSURE,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	\$3,500.00	\$14,000.00
13	SP	MULTI-LANE ROADWAY, RIGHT LANE CLOSURE INCLUDING RAMPS AND LOOPS,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	\$4,500.00	\$18,000.00
14	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL HOUR	5	EA	\$500.00	\$2,500.00
15	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL MILE	5	EA	\$2,000.00	\$10,000.00
16	SP	WORK ZONE TRAFFIC CONTROL, RESET TRAFFIC CONTROL	2	EA	\$2,500.00	\$5,000.00
17	SP	FLAGGER	500	HR	\$65.00	\$32,500.00

TOTAL BID FOR PROJECT: \$545,000.00

Contractor: Atoah Contracting LLC	
Address: 116 Lower Mill Creek Drive, Ro	bbbinsville, NC 28771
Phone: 828-735-5366	Federal Id:85-3034804
Contractor's License Number: <u>N/A</u>	
Authorized Agent: Logan Carver	Title: Owner
Signature:	Date: <u>11/04/2024</u>

# ID/IQ PROPOSAL – EMERGENCY CONTRACT

DATE AND TIME OF BID OPENING: NOVEMBER 4, 2024 AT 2:00

D13POC.057.1001 CONTRACT ID:

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: HELENE

MADISON COUNTY:

#### INTERSTATE, PRIMARY, & SECONDARY ROUTES **ROUTE NO.:**

VARIOUS LOCATION:

TYPE OF WORK: REMOVE AND DISPOSE OF STORM RELATED VEGETATIVE DEBRIS OF VARIOUS TYPES

#### NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

**BID BOND IS NOT REOUIRED.** THIS IS AN EMERGENCY REPAIR PROJECT NAME OF BIDDER ADDRESS OF BIDDER

#### EMERGENCY DEBRIS REMOVAL

### NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:D13POC.057.1001.01TIP Number:N/AFA Number:TBDWBS Element:VariousDescription:Remove And Dispose of Storm Related Vegetative Debris of Various Types

LINE #	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	8,000	СҮ	45	360,000
2	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	2,000	TON	65	130,000
3	SP	DRIFT REMOVAL	100	HR	1200	120,000
4	SP	SELECT TREE REMOVAL, 6 INCHES TO 12.99 INCHES	50	EA	450	32,500
5	SP	SELECT TREE REMOVAL, 13 INCHES TO 24.99 INCHES	25	EA	750	18,750
6	SP	SELECT TREE REMOVAL, 25 INCHES TO 36.99 INCHES	25	EA	850	21,250
7	SP	SELECT TREE REMOVAL, 37 INCHES TO 48.99 INCHES	25	EA	950	23,750
8	SP	SELECT TREE REMOVAL, 49 INCHES OR GREATER	15	EA	1100	16,500
9	SP	HAZARDOUS LIMBS	50	EA	675	33,750
10	SP	SHOULDER CLOSURE	15	EA	1550	23,250
11	SP	RAMP CLOSURE	4	EA	2500	000,00

EMERGENCY DEBRIS REMOVAL

Madison County

12	SP	CLOSURE,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	3750	15,000
13	SP	MULTI-LANE ROADWAY, RIGHT LANE CLOSURE INCLUDING RAMPS AND LOOPS,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	3750	15,000
14	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL HOUR	5	EA	315	1875
15	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL MILE	5	EA	1500	7,500
16	SP	WORK ZONE TRAFFIC CONTROL, RESET TRAFFIC CONTROL	2	EA	1500	3,000
17	SP	FLAGGER	500	HR	ISO	75,000

# TOTAL BID FOR PROJECT: 4907,125,00

Contracto	or: Da	(vens	Bus	nesi	Lec	De	4	Arrow	2001	Cont	VACT >
Address:	3	59	BUN	creet	Nº G	ARCAGO	TER	ive a	875	3	
Phone:	828	2012	ona		Fede	eral Id: _	240	191571	3		
Contracto	or's Lice	ense Nu	nber:	762	21	-,			19		
Authorize	ed Agen	t:D	arrent	Ar	eanos	c) '		Title: 1	Naro	er	
Signature	: Yn	· Un	M	0.821				_Date: _	1/0	1/24	

Type text here

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

## **ID/IQ PROPOSAL – EMERGENCY CONTRACT**

DATE AND TIME OF BID OPENING: NOVEMBER 4, 2024 AT 2:00

CONTRACT ID: D13POC.057.1001.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: HELENE

COUNTY: MADISON

**ROUTE NO.:** INTERSTATE, PRIMARY, & SECONDARY ROUTES

LOCATION: VARIOUS

**TYPE OF WORK: REMOVE AND DISPOSE OF STORM RELATED VEGETATIVE DEBRIS OF VARIOUS TYPES** 

#### NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

RANS

THIS IS AN EMERGENCY REPAIR PROJECT.

BID BOND IS NOT REQUIRED.

CAR

NJR GROUP, INC

NAME OF BIDDER

PO BOX 924 Albemarle, NC 28002

ADDRESS OF BIDDER

Contract Number:	D13POC.057.1001.01
TIP Number:	N/A
FA Number:	TBD
WBS Element:	Various
Description:	Remove And Dispose of Storm Related Vegetative Debris of Various Types

LINE #	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	8,000	CY	25.00	200,000.00
2	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	2,000	TON	230.00	460,000.00
3	SP	DRIFT REMOVAL	100	HR	1,500.00	150,000.00
4	SP	SELECT TREE REMOVAL, 6 INCHES TO 12.99 INCHES	50	EA	140.00	7,000.00
5	SP	SELECT TREE REMOVAL, 13 INCHES TO 24.99 INCHES	25	EA	200.00	5,000.00
6	SP	SELECT TREE REMOVAL, 25 INCHES TO 36.99 INCHES	25	EA	350.00	8,750.00
7	SP	SELECT TREE REMOVAL, 37 INCHES TO 48.99 INCHES	25	EA	450.00	11,250.00
8	SP	SELECT TREE REMOVAL, 49 INCHES OR GREATER	15	EA	525.00	7,875.00
9	SP	HAZARDOUS LIMBS	50	EA	75.00	3,750.00
10	SP	SHOULDER CLOSURE	15	EA	2,200.00	33,000.00
11	SP	RAMP CLOSURE	4	EA	2,500.00	10,000.00

12	SP	MULTI-LANE ROADWAY, LEFT OR RIGHT LANE CLOSURE,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	4,500.00	18,000.00
13	SP	MULTI-LANE ROADWAY, RIGHT LANE CLOSURE INCLUDING RAMPS AND LOOPS,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	5,500.00	22,000.00
14	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL HOUR	5	EA	500.00	2,500.00
15	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL MILE	5	EA	500.00	2,500.00
16	SP	WORK ZONE TRAFFIC CONTROL, RESET TRAFFIC CONTROL	2	EA	500.00	1,000.00
17	SP	FLAGGER	500	HR	100.00	50,000.00

TOTAL BID FOR PROJECT: 992,625.00

Contractor: NJR Group, INC
Address: Po Box 924 Albemarle NC 28002
Phone: <u>980-581-8102</u> Federal Id: <u>47-3588180</u>
Contractor's License Number: 77426
Authorized Agent: Karmen O Russell Title: Secretary
Signature: Altmerfussel Date: 11/06/2024
all a viries produce



CAR

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

## **ID/IQ PROPOSAL – EMERGENCY CONTRACT**

DATE AND TIME OF BID OPENING: NOVEMBER 4, 2024 AT 2:00

CONTRACT ID: D13POC.057.1001.01

**WBS ELEMENT NO.: VARIOUS** 

FEDERAL AID NO.: HELENE

COUNTY: MADISON

ROUTE NO.: INTERSTATE, PRIMARY, & SECONDARY ROUTES

LOCATION: VARIOUS

**TYPE OF WORK: REMOVE AND DISPOSE OF STORM RELATED VEGETATIVE DEBRIS OF VARIOUS TYPES** 

#### **NOTICE:**

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS AN EMERGENCY REPAIR PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

HiddeniteNC 28636 arm DD 10 hnso ADDRESS OF BIDDER

#### EMERGENCY DEBRIS REMOVAL

### NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:D13POC.057.1001.01TIP Number:N/AFA Number:TBDWBS Element:VariousDescription:Remove And Dispose of Storm Related Vegetative Debris of Various Types

LINE #	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	8,000	CY	\$75-	600,000
2	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	2,000	TON	\$1-	2000
3	SP	DRIFT REMOVAL	100	HR	500 Ro	50000
4	SP	SELECT TREE REMOVAL, 6 INCHES TO 12.99 INCHES	50	EA	500 -	25000
5	SP	SELECT TREE REMOVAL, 13 INCHES TO 24.99 INCHES	25	EA	750	18750
6		SELECT TREE REMOVAL, 25 INCHES TO 36.99 INCHES	25	EA	1500 -	37500
7	SP	SELECT TREE REMOVAL, 37 INCHES TO 48.99 INCHES	25	EA	2000 -	50000
8	Contraction of the second s	SELECT TREE REMOVAL, 49 INCHES OR GREATER	15	EA	2500-	37500
9	SP	HAZARDOUS LIMBS	50	EA	400-	20000
10	SP	SHOULDER CLOSURE	15	EA	2500-	37500
11	SP	RAMP CLOSURE	4	EA	2500-	10000

EMERGENCY DEBRIS REMOVAL

Madison County

12	SP	MULTI-LANE ROADWAY, LEFT OR RIGHT LANE CLOSURE,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	3500	14000 -
13	SP	MULTI-LANE ROADWAY, RIGHT LANE CLOSURE INCLUDING RAMPS AND LOOPS,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	3500	14000 -
14	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL HOUR	5	EA	600	3000 -
15	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL MILE	5	EA	2000	10000-
16		WORK ZONE TRAFFIC CONTROL, RESET TRAFFIC CONTROL	2	EA	1500	3000-
17	SP	FLAGGER	500	HR	200	100000-

.

TOTAL BID FOR PROJECT: 1, 032,250.00

Contractor: Shawn Luckey Excavating LLC
Address: 309 JOHNSON FARM RD Hiddenite NC 28636
Phone: 828 3129711 Federal Id: 56-2194092
Contractor's License Number: 88403
Authorized Agent: Kari G Lackey Title: pres
Signature: Vari Jeclin Date: 11-4-24
· 0

## **ID/IQ PROPOSAL – EMERGENCY CONTRACT**

DATE AND TIME OF BID OPENING: NOVEMBER 4, 2024 AT 2:00

CONTRACT ID: D13POC.057.1001.01

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: HELENE

COUNTY: MADISON

**ROUTE NO.:** INTERSTATE, PRIMARY, & SECONDARY ROUTES

LOCATION: VARIOUS

**TYPE OF WORK: REMOVE AND DISPOSE OF STORM RELATED VEGETATIVE DEBRIS OF VARIOUS TYPES** 

#### **NOTICE:**

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

RANS

THIS IS AN EMERGENCY REPAIR PROJECT.

BID BOND IS NOT REQUIRED.

CAR

Caroling FarthWerx LLC

3) 5 Basil Goude Hubert NC 28539

Contract Number:	D13POC.057.1001.01
TIP Number:	N/A
FA Number:	TBD
WBS Element:	Various
Description:	Remove And Dispose of Storm Related Vegetative Debris of Various Types

LINE #	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	8,000	СҮ	\$200	\$1,600,000
2	SP	VEGETATIVE DEBRIS REMOVAL AND DISPOSAL	2,000	TON	\$600	\$1,200,000
3	SP	DRIFT REMOVAL	100	HR	\$650	\$65,000
4	SP	SELECT TREE REMOVAL, 6 INCHES TO 12.99 INCHES	50	EA	\$200	\$10,000
5	SP	SELECT TREE REMOVAL, 13 INCHES TO 24.99 INCHES	25	EA	\$300	\$7500
6	SP	SELECT TREE REMOVAL, 25 INCHES TO 36.99 INCHES	25	EA	\$400	\$10,000
7	SP	SELECT TREE REMOVAL, 37 INCHES TO 48.99 INCHES	25	EA	\$500	\$12,500
8	SP	SELECT TREE REMOVAL, 49 INCHES OR GREATER	15	EA	\$600	\$9,000
9	SP	HAZARDOUS LIMBS	50	EA	\$500	\$25,000
10	SP	SHOULDER CLOSURE	15	EA	\$3,000	\$45,000
11	SP	RAMP CLOSURE	4	EA	\$4,000	\$16,000

12	SP	MULTI-LANE ROADWAY, LEFT OR RIGHT LANE CLOSURE,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	\$6,000	\$24,000
13	SP	MULTI-LANE ROADWAY, RIGHT LANE CLOSURE INCLUDING RAMPS AND LOOPS,(8 HOURS OR LESS, 1 MILE OR LESS)	4	EA	\$6,000	\$24,000
14	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL HOUR	5	EA	\$750	\$3750
15	SP	WORK ZONE TRAFFIC CONTROL, EACH ADDITIONAL MILE	5	EA	\$750	\$3750
16	SP	WORK ZONE TRAFFIC CONTROL, RESET TRAFFIC CONTROL	2	EA	\$15,000	\$30,000
17	SP	FLAGGER	500	HR	\$65	\$32,500

## TOTAL BID FOR PROJECT: \$3,118,000.00

Contractor: Carolina EarthWerx LLC	
Address: _315 Basil Court Hubert NC 28539	
Phone:	Federal Id: <u>93-4471742</u>
Contractor's License Number:	
Authorized Agent: Cody Kubinak	Title:
Signature:	Date:Date: